Backpack Sprayer Calibration (NO Math Version!)

Establish a calibration plot that
is exactly: 18.5 feet wide X ;
Rohetiong. Sgray o T Seconds Igee::(s)riisss ltgn seplr;t;i(:: 1y g lg %got Vo 25 Seconds
calibrated plot uniformly with required = calilen st ’ required =
water, noting the number of q g
seconds required.
Spray into a bucket for the Spray into a bucket for 25
same number of seconds. seconds
You measure out 40 ounces of
Measure the number of Volume Ounces ; Volume Ounces
ounces of water in the bucket. | sprayed = (0z.) maégpﬁg m the calibration bucket sprayed = 40 (0z.)
The number of ounces
collected from the bucket (step Gallons By measuring 40 ounces from
4) is equal to the number of ?oltlgz(ta:d - per acre step 4, you are sprayer output is coot:lr;(c::: = 40 S;Iéo(rg;:)r
gallons per acre the sprayer is (GPA) 40 GPA
delivering.
Determine the volume of full Tank Your backpack sprayer holds 3 Tank
spray tank. volume = aiiad allons. volume = 3 Qe
From the herbicide label
determine amount of herbicide I"C:: gg?;;% sa;:r1a(\)( (I)e;;y spurge
concentrate to apply per acre.
Determine the amount of i From the 40 GPA row and 10 o
herbicide to add to each :;r:::? . " (tsp, Thsp, 0z/A column in Table 1, you will ;I:‘r::’::?e - 11 -
gallon based on the chart gallon =pe oroz.) need 1% tsp of Plateau per gallon ___p 2 P
below. allon.
Calculate the amount of o Multiplying steps 6 x 8, you need -
herbicide to add to one full :;’;’Jf:fser (tsp, Tbsp, to add 4.5 tsp of Plateau to the 3 :;’:l:‘;"'tdser 41 -
tank by multiplying step 6 x itk or o0z.) gallon spray tank. Sk = 2 '
step 8 (Repeat 7-9 to determine MSO)
Table 1.
1 tsp. (teaspoon) = 1/3 Tbsp. 5ml
20 2% tsp 1 Tbsp 3% tsp 10 tsp 1 Tbsp (tablespoon) = 3 tsp. 15 ml
30 1% tsp 2 tsp 2% tsp 2 Tbsp 1 oz. (fluid ounce) = 2 Tbsp. 30 mi
40 1% tsp 1% tsp 2 tsp 2 Thsp 1cup = 8 oz. 237 ml
50 1 tsp 1Ya tsp 1% tsp 2 Tbsp 1 pint = 2 cups 473 ml
1 quart = 2 pints 946 ml
| 1 gallon = 4 quarts | 3785 ml




